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s 700
s 11,300
ol HAZZEAIAE(BIS) 22 48,099 80,576 N32,477
201 Ler23 | 12,000 12,168 A168
2 35244l 12,000 12,168 A168
O=32= # AN 12,000
—HAFERHID| SAL3(20044)
50,0003 2004 2=+ 123 12,000
308 AHAIEHMSOIE 36,099 43,408 AT,309
18 SIS HAS A 36,099 43,408 27,309
O2024F HAZEAIAE(BIS) FAE= 36,099
REZHEX S (HEAY) 150,000 300,000 150,000
& 75,000
= 75,000
401 Al HIZL 201 150,000 300,000 A150,000
= 75,000
o 75,000
01 Al&H| 150,000 300,000 150,000
Oddlls 48 =d gAY 150,000
= 75,000
o 75,000
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FAN AZUSH
BN DESS X4
ool tsusEe &2 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 30,000
s 150,200
201 er23| 700 700
01 AlR2teldl 700 700
OREATOISHIZAAS] B2
100,000 7 & *13] 700
301 EtE NS 80,000 0 80,000
Il 30,000
s 50,000
14 0Bt 2as 80,000 0 80,000
OuSAX HIRHMEA 29 XIJ 80,000
7l 30,000
Ea 50,000
307 lztol & 3,500 361,668 358,168
05 2IHRIE S 3,500 361,668 /358,168
OuELI A Rz Sz XA 3,500
405 KHoHFSHI 165,000 48,000 117,000
= 69,000
o 96,000
01 ML ESFISHI 165,000 48,000 117,000
OSERS4E £ X2
55,000, 000 *3CH 165,000
= 69,000
T 96,000
sSHEHA WSotE S22 wH & 29 12,600 45,600 233,000
307 elztol & 12,600 45,600 233,000
09 2 AELS 12,600 45,600 /33,000
OsSHEHA 2 SdHA )| FA
2= 50,0002 x21CH* 1204 12,600
L2EUSIE OtZelX SdA A 3,400 1,500 1,900
= 1,700
= 680
Ea 1,020
308 AXIHS0IA 3,400 1,500 1,900
= 1,700
= 680
= 1,020
18 SIS0t & A AS A 3,400 1,500 1,900
OgsWSIHE OrelXl X& 3,400
= 1,700
== 680
= 1,020
Maa EXI#A 552,000 0 552,000




FAN AZUSH
BN DESS X4
ool tsusEe &2 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 276,000
=S 138,000
s 138,000
307 @I2to| & 552,000 0 552,000
= 276,000
= 138,000
Ea 138,000
QB 2=gHEXS 552,000 0 552,000
OMaHA &= K& 92,000, 0002 =6CH 552,000
= 276,000
= 138,000
= 138,000
UsusHl &= XA K-THA) 4,800 0 4,800
= 2,400
= 960
= 1,440
308 AXIHSOIA 4,800 0 4,800
= 2,400
== 960
= 1,440
18 SIS0t 4 A A A 4,800 0 4,800
OtisnstHl &2 XA (K-THA) 4,800
= 2,400
== 960
[Ea 1,440
WS2AR SEAl 24EH| N 523,740 0 523,740
= 104,500
= 419,240
307 elztol & 523,740 0 523,740
= 104,500
Ea 419,240
05 212t =S 523,740 0 523,740
OuSSfA SHAl 238l N2 523,740
= 104,500
s 419,240
28H HIEXE 4,643,047 4,353,566 289,481
= 11,700
[ 570,035
= 107,771
= 3,953,541
HA(SY) & SHAILM HE X2 406,332 249,926 156,406
= 134,500
< 67,250




A AELS
BN DS T4
ol 2+2H HEXH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 204,582
101 @1A4H| 58,141 56,735 1,406
04 JIZtN2Z2 XS 2+ 58,141 56,735 1,406
OlA s - otk =<0 58,141
—QI2A4H| 78,8803 x2H 252« 12 47,328
— o=yl 200,000& 2 400
—40 288 94,656,000& *11% 10,413
201 er23| 500 1,500 21,000
01 AtR2t2|HI 500 1,500 21,000
OHAIZ IS B4+
100,000& *5& *13] 500
301 22N = 265,400 136,400 129,000
= 132,700
=S 66,350
s 66,350
14 0Bt 2as 265,400 136,400 129,000
O224 #SEA 28 X (30H0+2) 265,400
[ 132,700
= 66,350
[Ea 66,350
307 21201 & 77,000 50,000 27,000
00 2F=SHEXS 77,000 50,000 27,000
O3gHA 2% XA (1) 77,000
308 XXM SOIA 5,291 5,291 0
s 1,800
s 900
s 2,591
13 SI[2SOHe & EAS A 5,291 5,291 0
OHAI2HELE 2l E RFE=2 1,691
OS82 HERS(ORNAIAE AIEE 3,600
s 1,800
== 900
o 900
HA(SY) & SHAIYH HE XN (EX) 143,000 265,125 A122,125
= 11,700
== 3,000
o 128,300
301 22N = 124,000 252,000 128,000
= 11,700
T 112,300
14 JIEt2d= 124,000 252,000 128,000
020245 EHAIZRE S 4|
(30,000,000 *2CH )+(64,000,0002 *1CH) 124,000




SN ALDED
33 ISEs =4
el 2+M HEXA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 11,700
s 112,300
307 elztol & 19,000 13,125 5.875
= 3,000
Ea 16,000
B 2=gHEXS 19,000 13,125 5,875
OHAIRS H=ZMe==8 A& 19,000
=S 3,000
s 16,000
ANUSHEHA THEXAS(SEE US2E AY) 500,000 500,000 0
= 250,000
s 250,000
307 glztol & 500,000 500,000 0
= 250,000
= 250,000
09 2+ AHAELS 500,000 500,000 0
OAlU, sHEHA HEXH (sE8nsS2E
A THEXIH) 500,000
[ 250,000
s 250,000
AU - SOHEBHA THE XA 1,879,000 1,660,800 218,200
307 212+01& 1,879,000 1,660,800 218,200
QO 2= HEXS 1,879,000 1,660,800 218,200
O=sHEHA THE XIS (200H) 1,360,000
—2SAHA 214H] S 1,360,000
OSHEHA H2EQsH 22 512,000
Os0EHA WS =8 A& 7,000
gAlld &4 24s 677,715 677,715 0
= 185,535
= 33,021
o 459,159
307 @I2t01 & 677,715 677,715 0
[ 185,535
= 33,021
Ea 459,159
QB 2=gHEXS 677,715 677,715 0
Ol d A2 AS(3BH =H) 677,715
[ 185,535
= 33,021
= 459,159
ANBENSTH RIHEES XIH 1,000,000 1,000,000
307 gl2to| & 1,000,000 1,000,000
B 2=gHEXS 1,000,000 1,000,000




SN ALDED
"M DESS T4
Cel: 2+2H HEXH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
IEEEEEEEEEEE 1,000,000
Al NITE 2 MEIEA 22,000 22,000
207 AL 22,000 22,000
01 i gotH| 22,000 22,000
OSAl AT B2 JEIZA 22,000
24 HRIHAIRSTA MM X2 15,000 0 15,000
= 4,50
2 10,500
301 Lere A 15,000 0 15,000
= 4,50
2 10,500
14 J|EF2 A2 15,000 0 15,000
OBOIHAIZSEAT MMM
50,00021x258 122 15,000
= 4,50
2 10,500
EEEEELTEEER) 783,660 789,600 5,940
= 34,273
2 430,387
ol 2 | 721,320 712,740 8,580
= 34,273
2 377,047
NEEETTCES) 721,320 712,740 8,580
= 344,273
2 377,047
101 Q12| 721,320 712,740 8,500
= 34,273
2 377,047
EEEIESFEIEEERS 721,320 712,740 8,580
Oz2=+8 721,320
-J1=3 3,300,002 <1324 122 514,800
= 34,273
2 170,527
—flgansy 60,0002 <1324 122 9,360
—IiEeE 100, 00021+ 132 122 15,600
— R R e 180, 0002+ 1324 122 28,080
— RS 50,00021x124x 122 600
—ZE4Y 180, 00081+13% x 122 28,080
— AR (ED)
50,0002 <1324+ 10AI 2h+ 122 78,000
—ZEFIHI 3,000, 00024 1324 120% 46,800
JEET 62,340 76,860 A14,520
EETTEEESE) 34,340 40,860 6,520




FAN AZUSH
M HYRAZH(ALLS)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 21,800 21,800
01 At2teltl 21,800 21,800
OBN2Y Yur+BH|
1,500,000& 122 18,000
OZN2g Sl 8,000 x19& »254 3,800
202 04| 7,440 13,900 26,460
01 =LHOLI 7,440 13,900 26,460
OZA2g 0l 20,0002 x18H x4 1,440
O=LH04HI 20,0002 x3F 100! 6,000
203 HRP=H] 5,100 5,160 260
M A2 LRFAI 5,100 5,160 260
ORANEgg =AY 425,000« 123 5,100
Jl2dbl(sgo1eHe) 6,000 7,200 1,200
202 04| 6,000 7,200 1,200
01 2K 6,000 7,200 21,200
O=U08l 20,0003 x3H*100&! 6,000
JlEZe(ezg) 10,000 14,400 A4,400
202 04| 10,000 14,400 A4,400
01 SLHoIH 10,000 14,400 N\4,400
O=LH04HI 20,0002 x5 100! 10,000
Jl23tl(nse) 12,000 14,400 2,400
202 04l 12,000 14,400 A2,400
01 =LHAHI 12,000 14,400 A2,400
O=Uadbl 20,0002 62 *100 12,000




